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一、完形填空

During the war, my husband was stationed at an army camp in a desert in California. I went to live there in order to be  1     him. I hated the place. I had never   2    been so unhappy. My husband was ordered out on a long-term duty, and I was left in a tiny shack(棚屋) alone. The heat was   3    —almost 125 0F even in the shade of a cactus(仙人掌).    4    a soul to talk to. The wind blew non-stop, and all the food I ate, and the every air I breathed, were   5     with sand , sand , sand !

I was so sorry for myself that I wrote to my parents. I told them I was    6     and coming back home. I said I couldn’t stand it one minute longer. I    7    be in prison! My father answered my   8    with just two lines—two lines that will always sing in my  9   — two lines that completely changed my life :

Two men looked out from prison bars.
One saw the mud, the other saw the stars. 

I read those two lines   10  . I was ashamed of myself. I made up my mind I would find out what was good in my present    11   ; I would look for the stars. 

I made friends with the natives, and their   12  amazed me. They gave me presents of their favorite artworks which they had   13   to sell to tourists . I studied the delightful forms of the cactus. I watched for the desert sunsets, and   14   for seashells that had been left there millions of years ago when the desert had been an ocean   15  .
What brought about this   16   change in me? The desert hadn’t changed,    17   I had. I had changed my   18  .  And by doing so, I changed an unhappy experience into the most amazing  19   of my life. I was excited by this new world that I had discovered I had looked out of my self-created prison and 20       the stars. 

1.  A. off        

B. behind        

C. near           
D. beyond

2.  A. before     

B. already         
C. then           
D. still

3.  A. inflexible    

B. incomprehensible 
C. uncontrollable 

D. unbearable

4.  A. Only        

B. Not          

C. Many         
D. Such

5.  A. covered      

B. filled          
C. buried       

D. charged

6.  A. catching up   

B. keeping up      
C. giving up       
D. getting up 

7.  A. ought to     

B. might well     
 
C. would rather    
D. had better

8.  A. request       

B. call        

C. question          
D. letter

9.  A. comparison    
    B. imagination    

C. consideration 

D. memory

10.  A. over and over   
B. by and by      
C. up and down  

D. now and then

11.  A. company      
B. occupation     
C. situation      

D. relationship

12.  A. movement     
B. reaction        
C. guidance      

D. purpose

13.  A. refused        
B. failed         

C. managed       
D. happened

14.  A. asked         
B. hunted        
    C. waited        

D. headed

15.  A. floor          
B. surface         
C. rock          

D. level

16.  A. shocking      
B. challenging     
C. puzzling       
D. astonishing

17.  A. as           

B. but            
C. for           

D. or 

18.  A. attitude      

B. principle       
C. identity      

D. standard

19.  A. vacation        
B. operation       
C. affair        

D. adventure

20.  A. sought       

B. counted        
C. found        

D. reached
3、 阅读理解 
A

Singles’ Day—the Chinese opposite of Valentines that’s turned into a massive online shopping event. It’s a day when single people are supposed to buy themselves presents, or get them from their coupled-up friends. But there are evil sociological reasons at play behind China’s celebration of single life. And the imbalance could have big consequences for the country.
    There were 34 million more men than women in China in 2011. Part of that is natural— usually there are 105 boys born for every 100 girls. It was 116 boys to 100 girls in 2012. The one child policy is largely to blame. Brought in to control population expansion, the policy allowed only one child per family.
    But because male children are seen as more valuable, as well as more likely to support their parents in old age, some parents chose to have a son over a daughter. As a result, large numbers of men are likely never to get married. In fact, one study has predicted that by 2030, 1 in 5 Chinese men in their 30s will never have married, while another states that 94% of un- married people in China are men.
    Some parents are trying to find partners for their sons at physical markets, where people post personal ads detailing their characteristics, as well as their work and educational achievements. Traditionally China has seen high levels of marriage, usually among the young, but measures brought in by the government, as well as increased education and career opportunities for women have meant marriages are happening later.
    It's also traditional that women marry up, which means they marry men from a higher socioeconomic bracket(档次)than themselves. So women at the top and men at the bottom find themselves alone. That's a big problem in a society that still focuses on family life as the ideal. One study has even suggested a link between an imbalanced sex rate and growth in violent crime in the country.
    Huge numbers of young, single Chinese people have accelerated Chinese businesses, but Singles’ Day can’t solve all the problems China’s singles face. Indeed, it’s possible it’s causing even more problems, as men turn to increasingly risky lines of work for increasing their chances of gaining money and thus a wife. And as capitalism starts to overcome romance, there’s evidence that China’s marriage market is increasingly materialistic.
21. An important theme for Singles' Day of China is _____.
   A. celebration on one’s single life  

B. online shopping
   C. presenting gifts to each other 

D. visiting coupled-up friends
22. An important cause for the serious imbalance of gender is _______.
   A. Chinese traditional concept 


B. males are good labour
   C. the one child policy 



D. the celebration of Singles’ Day
23. Which of the following is one reason why young people now marry late?
   A. They think one’s cause is more important than marriage.     B. More people are getting higher income.
   C. Their parents don't try to assist in finding a partner for them.  D. Many people’s education is increasing.
24. Many women at the top are difficult to find a husband because ______.
   A. they are too old for marriage     B. they have too fine background for men
   C. the traditional idea that women marry up affected them   D. they are too proud for ordinary young men
 B
Repeated exposure to social networking sites leaves users with an “identity crisis", wanting attention in the manner of a baby saying, “Look at me, Mummy, I've done this." 

Professor Baroness Greenfield believes the growth of internet “friendships”, as well as greater use of computer games, could effectively “rewire" the brain, 

This can result in reduced concentration, a need for instant satisfaction on poor non-verbal skills, such as the ability to make eye contact during conversations. 

More than 750 million people across the world use Facebook to share photographs and videos and post regular updates of their movements and thoughts. Millions have also signed up to Twitter, the "micro-blogging" service that lets members circulate short text and picture messages about themselves. 

Baroness Greenfield said, "What concerns me is the banality of so much that goes out on Twitter," Why should someone be interested in what someone else has had for breakfast? It reminds me of a small child saying, "Look at me Mummy, I'm doing this", "Look at me Mummy, I’m doing that”. “It’s almost as if they're in some kind of identity crisis." The academic suggested that some Facebook users feel the need to become "mini-celebrities,” who are watched and admired by others on a daily basis. They do things that are “Facebook worthy” because the only way they can define themselves is by people knowing about them. 

"It's almost as if people are living in a world that’s not a real world, but a world where what counts is what people think of you or (if they) can click on you,” she said. 

"Think of the implications for society if people worry more about what other people think about them than what they think about themselves.” 

Her views were supported by Sue Palmer, a literary expert and author, who said girls in particular believe they are “goods they must sell to other people" on Facebook. 

She said. "People used to have a portrait painted but now we can more or less design our own picture online, it’s like being the star of your own reality TV show that you create and put out to the world.” 
25. People who often use Facebook and Twitter will_______ . 

A. develop strong online friendship with other users 
B. improve their ability to focus their attention on things 

C. develop non-verbal skills to communicate with each other 

D. have a childlike desire for constant feedback on their lives 

26. The underlined word "banality” in the passage may mean something that is_______ . 

A. dull   B. interesting   C. important   D. serious 

27. The purpose of the passage is_______ . 

A. to advise people to use less social networking   B. to warn people not to be cheated on Facebook 

C. to introduce the functions of Facebook and Twitter  

D. to explain the identity crisis of Facebook and Twitter
C
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In the 1990s, when an area of Brazilian rainforest the size of Belgium was cut down every year, Brazil was the world’s environmental villain(反派角色) and the Amazonian jungle the image of everything that was going wrong in green places. Now, the Amazon ought to be the image of what is going right. Government figures show that deforestation fell by 70% in the Brazilian Amazon region during the past decade. If clearances had continued at their rate in 2005, an extra 3.2 billion tons of carbon dioxide would have been put into the atmosphere. That is an amount equal to a year’s emissions from the European Union. Arguably, then, Brazil is now the world leader in addressing climate change.

But how did it break the vicious cycle(恶性循环)? The answer, according to a paper is that there was no silver bullet but instead a three-stage process in which bans, better governance in frontier areas and consumer pressure on companies worked. 

The first stage ran from the mid-1990s to 2004. This was when the government put its efforts into bans and restrictions. The Brazilian Forest Code said that, on every farm in the Amazon, 80% of the land had to be set aside as a forest reserve. As the study observes, this share was so high that the code could not be followed—or enforced. This was the period of the worst deforestation. Soybean prices were high and there was a vast expansion of soybean farming on the south-eastern border of the rainforest.

During the second stage, which ran from 2005 to 2009, the government tried to boost its ability to police the Amazon. Brazil’s president made stopping deforestation a priority, which resulted in better co-operation between different bits of the government. The area in which farming was banned was increased from a sixth to nearly half of the forest.

The third stage, which began in 2009, was a test of whether a system of restrictions could survive as soybean expansion continued. The government shifted its focus from farms to counties (each state has scores of these). Farmers in the 36 counties with the worst deforestation rates were banned from getting cheap credit until those rates fell. 

By any standards, Brazil’s Amazon policy has been a success, made the more remarkable because it relied on restrictions rather than rewards, which might have been expected to have worked better. Over the period of the study, Brazil also turned itself into a farming superpower, so the country has shown it is possible to get a huge increase in food output without destroying the forest. Moreover, the policies so far have been successful among commercial farmers who care about the law and respond to market pressures. Most remaining deforestation is by small holders who care rather less about these things, so the government faces the problem of persuading them to change their ways, too. Deforestation has been slowed, but not yet stopped.
28. Brazil is considered to play a leading role in dealing with climate change because ______.

  A. it has rainforest as large as Belgium        B. it has cut down too much rainforest

  C. it has taken action to reduce deforestation  D. it sent 3.2 billion tons of carbon dioxide into the air

29. The underlined phrase “silver bullet” in Paragraph 2 most probably refers to______.

A. a powerful weapon



B. an effective solution 

C. an intelligent device



D. a golden opportunity

30. Which of the following statements is true according to the passage?

A. 80% of the farmland was allowed for farming in the 1st stage.

B. Soybean prices went up where farming land was expanded.

C. The government hired more policemen in the Amazon area.

D. The government enlarged its range of supervision in the 3rd stage.

31. What can we infer from the last paragraph?

A. Brazil has successfully eliminated deforestation. B. All the farmers care much about forest protection. 

C. Small farm holders are a headache for the Brazilian government. 

D. Both the food output and the forest in Brazil have greatly increased.

32. What can be the best title of the passage?

A. Cutting Down on Cutting Down          B. Brazil, the World Leader in Farming

C. Restrictions Outperforming Rewards      D. Former Awareness Working Wonders
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